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1.001 Solve for x in the equation:

0 = 64

1.002 Find the value of y in the equation:
3y’ = 2T

1.003 Determine the solutions to the equation:

2ed — 8 =10

1.004 Solve for z in the equation:
520 4125 =0

1.005 Find all real solutions to the equation:

20 — 18z =0

1.006 Solve for x in the equation:

4t + 1222 — 48 =0

1.007 Find the roots of the equation:
. -2 1 e
zd — 2727 + 2162 = 0

1.008 Determine the solutions to the equation:
32° — 2Te =0

1.009 Solve for y in the equation:
2u° + 10y* — 20y = 0

1.010 Find all real solutions to the equation:

w — 6t 1le—6=0
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